MBF3C – Trigonometry Lesson 2

Diagrams are not drawn to scale. Round angle measures to the nearest degree. The side length answers should be rounded to one decimal place.

1.
Based on the following diagram, use the values given to find the missing/indicated side:

(a)
a = 58 cm, c = 124 cm ( find 
[image: image1.wmf]Ð

A

(b)
b = 75 m, c = 215 m ( find 
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A

(c)
b = 64 m, c = 225 m ( find 
[image: image3.wmf]Ð

B

(d)
a = 45 cm, c = 238 cm ( find 
[image: image4.wmf]Ð

B

2.
Based on the following diagram, use the values given to find the missing/indicated side:

(a)
a = 55 cm, b = 137 cm ( find 
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A

(b)
a = 235 m, b = 68 m ( find 
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A

(c)
a = 212 m, b = 100 m ( find 
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B

(d)
a = 30 cm, b = 285 cm ( find 
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B

3.
Using the diagram below on the left solve for the measure of the missing angles.




4.
Using the diagram above on the right solve for both the measure of the missing angles and the length of the missing side.

 SEQ CHAPTER \h \r 1 Solutions:

1. (a) 
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A =  28 ° (b) 
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A =  70 ° (c) 
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B =  17 ° (d) 
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B =  79 °
2. (a) 
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A =  22 ° (b) 
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A =  74 ° (c) 
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B =  25 ° (d) 
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B =  84 °
3. 
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A =  28 °, 
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B =  62 °          4. 
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A =  59 °, 
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B =  31 °, b = 142.8m
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